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QUESTION 1

The area of one face of a cube is 49 square centimeters. What is the total length of all its edges? 

A. 48 cm 

B. 98 cm 

C. 112 cm 

D. 84 cm 

Correct Answer: D 

 

QUESTION 2

In a library, 30% of the books are fiction and the rest are non-fiction. 

Given that there are 2,000 more non-fiction books than fiction books, what is the total number of books in the library? 

A. 4,000 

B. 3,000 

C. 6,000 

D. 5,000 

Correct Answer: D 

 

QUESTION 3

What does 68% equal? 

A. 6800 

B. 0.68 

C. 0.0068 

D. 6.8 

Correct Answer: B 

 

QUESTION 4
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What was the average amount of precipitation received in all areas on the fifth of the month? 

A. 0.95 inches 

B. 2.41 inches 

C. 1.01 inches 

D. 0.80 inches 

Correct Answer: D 

 

QUESTION 5

Sam is now 5 times as old as his son Paul. Four years ago, the product of their ages was 52. Find their present ages. 

A. Sam: 30 years; Paul: 6 years 

B. Sam: 15 years; Paul: 2 years 

C. Sam: 5 years; Paul: 30 years 

D. Sam: 60 years; Paul: 30 years 

Correct Answer: A 
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